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1. @ 20 ﬁmy@ﬁfﬁﬂwaﬂwa‘mw
a2

(A) 210

(B) 300.

(C) 400

(D) 420

1 & 100 ¥ &= frah U gt &, R @
T 4 ¥ 7 A Pia Ronfw a6 &, 9w
7 4T 3i% FHwg A off ST R 2

A) 7
(B) 10

(C) 20

(D) 21

. . 94§ GEel w1 A 9 | UG b YohAT I
A 2 4, 7wt i |

(A) 179 8

B) 2w 7

(C) 63

(D) 4T 5

(2-A)

freifera aE= A felt ofEm & wd =1 =\

et T R 1 4R S W e T 4800

H =g g &, @ aft 7E W pa fhan w9
am@%f_%?

. (A) T 15,000

(B) ¥ 16,000
(C) ¥ 17,000

(D) ¥ 18,000

. UF I 9 B 65% T Wl | AR ufd 9|

¥ 525 <! SO B § Tl Igh! HRw AR
TR ?

(A) ¥ 1200

®) %1500

(C) ¥ 1800

(D) ¥ 2100
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What will be the sum of the first 20 odd

nétgral numbers ?

(A) 210

(B) 300

(C) 400

(D) 420

How. many such numbers are there
between 1 and 100, each of which is not

oﬁly completely divisible by 4 but also

contains 4 as a digit ?
(A) 7

(B) 10

(C) 20

(D) 21

If the sum of two numbers is 9 and the

sum of their reciprocals is %, .then those
numbers will be

(A) 1and8

(B) 2and7

(C) 6and3

(D) 4and5

4.

-(37:‘\)

The shows the
expenditure details of a family. If the total

expendifure on food is ¥ 4800, then hbw

following pie-chart

much is the total expenditure on all the

items ?

(A) ¥ 15,000

(B) ¥ 16,000

(C) ¥ 17,000

(D) < 18,000

- Ram spends 65% of his salarjlr and saves

T 525 per month. Then - what is his
I'nonthly income ? -

(A) ¥1200 -

B), T 1500

(C) ¥ 1800

(D) ¥ 2100
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TRt § U wed w9t gean erfl . srafem fifT
(A) 32
. 2
7
(B) 36
. 3
(© 30 *
(D) 28 ' 3. B
. 6
4 8
9

7. AGﬂIBﬁaﬁqﬂaﬂgﬁS:clﬁw\%l
A ad gl ST Y F 4 ;3 IR A ) A

(A 1,234
) Fam Ty feat & 2 |
@) 8% _ (B) 2,4,3,1
(B) 99 (C) 4,321
(C) 1099

D) 3,4,1,2
(D) 124 '

8. e sl & midw < |
; 1 <hifare B 4:359 x 4-359 — 1-641 x 1641

36, 72, 49, 45, 60, 33, 52, 61 3 72 10- T 435 - 1641 HHA G 2
(A) 52 ' A) 63
(B) 60 | B) 60
© 4 (C) 50 -
® él | . | (D) 73

2RSP3/11/2023 ) (4-A)
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6. The average of 4 consecutive even|9. Arrange the following in descending order
numbers is 27. The largest of these of their magnitude :
numbers will be .
5
1, .
(A) 32
: 3
2. =
(B)( 36 . 4
(C) 30 5 5
6
(D) 28
9
7. The present ages of A and B are in the Y 1,234
ratio 5 : 4. Two years ago the ratio of their | '
ages was 4 » 3. What is the present a'ge of B) 2,4,3,1-
LA? '
€) 4,3,2,1
(A) 8 years '
(D) 3, 4”1: 2 .
(B) 9 years
(C) 10 years
(D) 12 years ' - . .
: - _ 10. The value of 4-359 x 4359 — 1641 x 1-641
4-359 — 1-641
’ is:
8. Find the median from the following data :
36, 72, 49, 45, 60, 33, 52, 61.and 72 @A) 63
A) 52 ) d . (B) 60
(B) 60
(C) 50
(C) 49

2RSP3/11/2023 .. ‘ (5—A)
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(D) 37w & ¥ IS 4

14. 3R SR weT 3 6 T wge whw 2 ol
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12. Torelt SRl = wiftn w0 o yemEfe ade
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If the number of accidents occurring in the

middle of the road is much more than the|

accidents occurring on the side of the

road, then

(A) Make - the citizens aware .and

construct speed breakers

(B) Organize celebrity events

Infer tﬁat walking in the middle of

the road is safer

(D)} None of the above

Postponement of an event is an

édn;inistrative way of
(A) Taking time for better prepmaﬁon
(B) Teachiﬁg a lesson to the populace
(C? Both (A) and (B)

(D) None of the above

14.

(7-A)

18. If ‘No S is P’ is a false statement, then

which of these statements-is _necessarily

true ? |
(A) AllSisP

(B) SomeSisP

(C) Some SisnotP

(D) None of the above

If you find-that the question paper is too
difficult and seems to be out of the

syllabus, what will you do first ? '

(A) Tell the examiner that questions are

01.1t of course
(B) Copy from others
() Walk out of the examination hall

(D) Try to solve fch'e questions as much as

possible
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71,73, 79, 83,89, 2
(A) 96.
(B) 97
(C) 98

(D) 99

AR HIE gHM 30% T 3 B, F 20% sk
Ty, AR

(A) 50%
(B) 429 -
©) 44%

(D) 56%

R Y P 3w Q ¥ o i gft x P 3
3 W Q N TR R F = g y Feaf,
2, @ v& P ol vt R% 9 #r gt

(A) x+y |

(B) x+y;§31ﬁ$

- (C) x+yﬁ$ﬂﬂ1m

(D) :ﬂé’fﬁﬁﬁéqﬁf

18. R 24 v, 1979 Wt HTerER & @t Frffed

19.

20.

(8-A)

3 Q W fafyy T d 2

(A) 21w, 1980

(B) 229, 1980

. (C) 239w, 1980

(D) 24 9T, 1980

aR & T B whk Y A d ek
el i v P ok €, 7@ P, Q @ ot
®, i gHT T gRT R R et Qe
I |
&) np?
B) Q2
(©) nP? + Q2
(D) P? -
forames __ wlem?
(&) s

(B)‘ g

© wrfeos

(D) YF | 9 i 7
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The next number in this series will be

71,73, 79, 83, 89, 7

.(A) 96

By 97

(C) 98

16.

(D) 99

If a shop gives 30% discount and then

provides another 20% discount, then the

“total discount will be

17.

L (©

2RSP3/ 11/2023

(A) 50%
(B) 42%
(C) 44% .

(D) 56%

If the distance between city P and city Q
is x km.and the distance between city Q
and city R is.y km, then the .distance
between city P and city Ris . '

(A) - x+¥y
(B) greater thanx+y

less than or equal tox+y

(D) None of the above

19.

20.

(9-A)

18.

If 24th July, 1979 is a Tuesday, then
which of the following days is a Tuesday ?

(A) 215 July, 1980 -
(B) " 2224 July, 1980

(© 23" July, 1980

(D) 24t July, 1980

If two cows are tiéd to a'common pole and
the'length of the ropes are P and Q, where
P is greater than Q, then the total area '
grazed by both the cows will be ) .

(A)
(B)
©
(D)
Decision—making isa process. -

(A) Cog_'nitive

(B Superficial

(C) Ral}dom

(D) None of the above
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22,

o i fy e &, Foeit 3 7 @ Sre AT
mﬂwﬁé\wmr@%% |éﬁa$r?m=r
HiRm |

(A) Iz
(B) wrea
(C) M=
(D) wred

gie forel @i W § 34687 ﬁ 43778
%@aﬁn% dl 47592 ﬁa@ﬁm%%sﬁwmﬁ

' %&rw%@m?

23,

24.
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(A) 56683
(B) 55683

(C) 55738 °
(D) 56873

AR gow I Ay w1 W, wfeer B ot

T WL, ‘TGH! 1 TSh Fal WY, T B
TR’ el T AR T A ‘ﬁn’mgrsrrq,

A §ATE TR HH Jgw ?

(A) dEee

(B) wght

(C) ==

D) T8
ﬁmﬁmm%mmﬁﬁﬁmw
= hifse |
t@?ﬂﬁ.ﬁﬁw::ww:_‘?_
(A) . Fd8M

(B) Ft =

(C) 3

(D) gSATT

25.

26.

27.

a6 30 saEd, 2023 A FWAR @, T 2 W
| 2023 =t -7 &7 97 2

(A) TEar
(B) TEaR
(C) §HER

&D) AR

= 59 %mﬁh‘hﬁaﬁﬁmﬁmm%

37T ¥ IEHT TAM R BT 2
A 17
B) 18

(C) 42

(D) 43

IW A F T HIC S Re 7@ w1 ey
<1 watan gfifie e 2
sifear, SEmer, T

@o

e
B
B 75

- (©) -
.(D)

(10-A)

‘
3



22.

Few names are given that -share a
common feature, except one. Choose the

odd one out.

(A) Iceland ]

(B). Malta

()] .Japan

(D) Belarus .

. If in a code language, 34687 is written as

48778, how will 47592 be written in that
code language ?

(A) 56683

(B). 55683

(C) 55738

(D) 56873

23.

24.

If “man’ is called ‘woman’, ‘womanf_ is
called ‘boy’, “boy’ is called ‘girl’, ‘girl’ is
called ‘pilot’ and ‘pilot’ is called ‘child’,
then who will fly the aeroplane ?

(A) Pilot '

(B) Girl

(C) Child

(D) Man

On the basis of the following analogy,
choose the correct option.
Prediction : Future : : Guilt :_?

(A) Present

" (B) Misdeed

2RSP3/11/2023

(C) .Past

(D) Repent

26.

26.

@)

27.

B)

If 30t January, 2023 was Monday, then
what was the day on 2nd March, 2023 ?

(A) Sunday

(B) Tﬁursday

(C) Wednesday

(D) Tuesday

Manoj ranks seventeenth in ‘a -class of
59 students. What is his rank from the

last ?

17
(B) 18
(C)
(D)

42
43

Choose the diagram that best represents

the relationship among the given-classes :

_Engineers, Accountants, Professionals

@& @O
O O
O

(D)

(11-A)
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28. f=fafes § 4 s Uk 35 “Educational”

29.

30.
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W%a&aﬁaﬂmmzzﬁ“ T A
ghar 3 ?

(A) LION

(B) NATIONAL

(C) DEAN

(D) NEAT

Ife 3 1 | 100 T i ot TEd foen §,
o fret T 7 o 2

(A) 20
(B) 21
(C) 22

D) 19

“Gi’ w1 W ‘W’.‘é 2, 3w
‘W’,’EF_[W%T a8

(A) I
(B) %™
(C) zemfmn
(D) wRITSAT

31. ¥R fiw m fowedt § & Hhw den ¥ oW

32.

33.

(12~A)

. STt S ) e R 2

(A) IarEar
(B) W& €W
(C) wu Fit i

(D) TR Imw

GIEITChR #4912 2
(A) a= fagero

(B) g

| ©) 'H'FQHUT

(D) amﬁmﬁwamﬁwq
‘meﬂ#aﬁ%‘wﬁ‘mﬁ
3 1”73 oRm fRem & 9

A) tfsw

(B) &=

(C) <X

(D) #HR



28,

29.

30.
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Which one of the following words cannot
be formed by using the Ietters of the word

“Educational” ?
(A.) LION
(B) NATIONAL
(C) DEAN

(D) NEAT

If you write down all the numbers from
1 to 100, then how many times do you

write 77
(A) 20

(B) 21 .

(© 22

(D) 19

“Berlin” is related to “Germany”_ in the

same way as “Jakarta” is related to
(A) UK

(B). France

(-_C) Indonesia ° ‘

(D) Malaysia

31.

| 32.

(13-A)

. (A

33..

From the options listed below, identify the

barrier in communic_ation.
(A) Disinterest

(B) Clgar message

(C). Lack of confusion

(D) Physical comfort

What does an interview imply ?

Data analysis
(B) Observation
(C) Communication .
(D) Face-to-face conversation

“Communication is the transference and
understanding of meaning.” Who gave
this definition ?

(A) Robbins.
(B) Stewart
(C) Taylor

.(D) McGregof
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(D)

(A) FSHICHS GHEIT YT He@ 8 | -
(B) gfgagmrd |

(C) GrTewhan Frwsrel} e 2 |

(D) fg wer & |

i fou forepel & & - R wemv/asiym
A 91w 7 R0

(A) asggmr

(B) wyfd

(C) Gri%?rcn

(D) et wifes s

frefifes ¥ @ #ww feey TS
gigadt & o FF 22

. (A)  ATE-STTEET
J (B) w-3um
(C) wud wfafifr

(D) WIS e

U A R ?

(A) Goe $ UgEH W, AT Sl SR
Hﬂﬂ%aﬂtwmmﬁ@wmﬂaﬁm
TG T H FhI & |

'(B'.) ﬁﬁ%ﬁﬁqﬁaw'%mmﬁiﬁm
1 O R AT & |

©) T wal B I WG B T wW A
HETEAT A Y &war |

T e o fRR o R % =R A
wmﬁnaﬁaaaﬂwﬁmﬁaﬁ
A | :

88. Fwfafad # @ wh-a1 fimew A Jeafd @

39.

40.

(14-=A)

Haftm 757 22
(A) =4

(é) fossT -
(C) T=um

(D) 34

ﬁq%f@aﬁﬁﬁqmﬁmmmm
A R ?

(A) wurT ol srfy
(B) W=
(C), Sum

(D) =g98R

fora fagm 3 % @ 1% dor & smfw awt
1 U8 R BT R 2

(A) sgU
(B) Agufwrm
(C) uegad

(D) Ea iUl
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34.

35.

Traihing in Brainstorming signifies

(A) Decrease in creative problem solvii;g
+(B) Increase in intelligence

(b) Neutralising of creativity

(D) Decrease in intelligence

From the options listed below, identify
which one is nof a communication skill,

" (A) Active listening

36.

37.

2RSP3/11/2023

(B) Empathy «

(C). Complexity

(D) Open body language

Which one of the following is not a
component of Emotional Ihtelligence ?

(A) Self-awareness

(B) Self-motivation

(C) Conflict representation
(D) Social skills

What is Problem solving ?

(A) The ability to identify the problem,

cause of the problem, analyse
solutions and implement the best
_ solution. ‘
i
(B) The ability to describe the
traditional knowledge of
communities  accumulated  over
several generations.
(C) The ability to help two parties to
resolve their differences.
(D) The ability to read books and
- give/provide comprehensive and

detailed information about an issue.

38.

39.

40.

(15-A)

Which of the following is not related with
Social Networking ?

(A) Threads :
(B) '._LinkedI‘n'

(C) Ins'tagr;',am

(D)1 eBay

Which one of the f‘ollowing options is not a

part of conflict process ‘7

(A) Potential opposition or
incompatibility M

(B) Intentior;s

(C) Motivation

(D) Behaviour

Which thinker said, “Non—vgrbél ele.ments

are more important in communication” ?

(A) Bandura
(B) Mehrabian
-((-3) Ellsworth
(D) Carl Jung
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(D) S i@ W

2RSP3/11/2023

(16 -

42 mﬁwmﬁ@wwmﬂ@m%—
&) @@=
(B) =fwT
(C) wam
(D) Whmumm&ﬁw

|43. @ s fred R few B Rawpt
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Questions No. 41. ~ 45 (Based on Passage-1) 42, Subjective experience that uses imagery is

Passage-1 (A) Cognition
_ .Stres? plays a sgmﬁcant role in (B) Personal experience
physical diseases. Hypertension, heart -

disease, diabetes and even cancer are- (C) Emotion

l_mked to high levell of stress. Therefore, " (D) Creative visualization
knowing techniques to manage stress is

" very essential. 7 :
43. The approach to replace irrational

Relaxation  technique is an
thoughts with rational ones is called

important skill that reduces symptoms of

stréss. It calms the mind and relaxes the | - (A) Meditation
body. Deep breathing is used in this '
technique. The yogic method of meditation _ (B) . Cognitive behavioural technique .

consists of "a sequence of learned . e e
i . . - ) (C) Creative visualization
techniques for refocussing of attention that ;

brings about an altered state: of (D) All of the above -~
consciousness. The biofeedback is' a
procedure to develop awareness to monitor

S 44, Which technique is used .to calm the
and reduce the physiological aspects of . : '

ind ?
stress by providing feedback about current mind ?
physiological activity. " '|*  (A) Relaxation technique
Creative visualization is a subjecti;.re (B)- Biofeedback '

expeﬁence that uses imagéry and :
imégination. Cognitive - behavioural (€©)  Meditation
techniques are meant to replace negative (D) Courage
and irrational thoughts with positive and

rational ones.
45. Refocussing of attention could be done by

41. Developing an awareness for the which of the following techniques ?
physiological responses is known as ! (A) Relaxation
(A) Visualization .
(B) Meditation
(B) Learning |
(C) Biqfeedi)ack (C) Change in personality
(D) None of the above ’ . _ " (D) All of the above
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47.

48.

49.

50.

o, Freefiad # & fr g s 7@ B
R, : '

(A) - Sttt
(B) weaTg
(©) i wfeft
(D) GaeET

A ?

&) wha s

(B) &= '

(C) e st

(D) 39dw 4 @ BE T

frfifes # ¥ e #7F BR W =
Sfol-sftof sear 2 9

&) T8H

(B) = (distress)

(C) 9= 9«
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Questions No. 46 - 50 (Based on Passage-2) | 47 gtress is not generated by which one of

Passage-2 ' ‘ the following ?
All the challenges, problems and (A) Challenges
difficult circumstances put us to stress. (B) Problems

Thus, if handled properly, stress increases

the probability of one’s survival. Stress. (C)  Difficult circumstances

gives energy, increases. human arousal (D) "Resources
and affects performance. High stress can
produce unpleasan’ﬁ effects and cause our |48 Eustress is

pei'formance to deteriorate. Conversely, .
: (A) Sometimes good

too little stress may cause one to feel low ,
e . ' (B) Bad

on motivation, which may lead us to :

perform slowly and less efficiently. It is . (C) . Always good

important to remember that not all stress (D) None of the above

is inherently bad. ‘Eustress’ is the term’
used to descnbe the level of stress that is 49, Whic_h (’)f the following causes Weax.' and

good and is one of a person’s best assets tegr in our body ?

for achieving peak performance. Eustress,

. L (A) . Eustress
however, has the potential of turning into ’

‘distress’. It is this latter manifestation of (B) Distress
stress that causes our body’s wear and (C) Normal Effect
tear. (D) Both — Distress and Eustress

46. Too high level of stress leads to 50. Little stress may cause

(A) High perforniance . (A) qu motivation
(B) Low performance (B) High motivation
(C) Pleasant effect (C) No effect on motivation . -

(D). Both high and low effect on
' motivation

(D) All of the above

2RSP3/11/2023 ' : (19-A).
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51.

52.
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(A) 8=

€ e &2
?

If ‘4’ means “*, ‘=’ means

AN
]

means ‘%’

and ‘<’ means ‘+’ then
12+6+3-2x8="?

1
3

1
(B) 95
1
(V) 9;—

‘ol
(D). 95

Which of the following figures shows the '

relationship between tables, chairs. and

furniture ?

(A)

54,

55.

(21-A)

53.

X and Y are two brothe;'s. B is the brothef

. o.f A and A is the mother of X. How is B

related to Y ?

(A) Maternal uncle
(B) Mother

(C) Brother

(D) Father

Just as ‘Court’ is related to ‘Justice’, in the
same w.ay ‘School’ is related to which of

the following ?
(A) Class

(B) Student . .

" (C). Teacher -

(D) Education

Select the odd one out from the options

given below.

(A) Aeroplane

' (B) Bird

(C) Tanker

(D) Aerial umbrella
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12, 21, 23, 32, 34, ?

ELIUR S R i
(A) T (A)- 43
(B) woel ' (B) 37
(C) =g« ©) 36
(D) wrft _
(D) 42
57. ﬂi@w%}:gmamﬁaﬁﬁ
ABC, GHI, MNO, ?
(A) RST 60. Tagw "= s il

(B) STU

©) PQR o v
_ _— [ 4 16
(D) QRS - - ij .

58. af fedh WY ¥ AR AR B 16 i 2,
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el 2 . S A) 8
(A) 25 | '

(B) 24
(B) 26
(© 27 © 80
D) 28. - (D) 32
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56. Choose the word with related similarity|59. TFind the missingnumber :

from the given options.

12,21, 23, 32, 34, ?
Room : Floor : : River: ? :

(A) Bottom = A) 43
(B) Tish | | (B) 37
(C) Whale o ’

- - ' (C) 36
‘(D) Water .

D) 42

57. Choose the missing letters of the series
ABC, GHI, MNO, _?_

(A) RST 60. Find the missing number:

(B) STU : )
(C) PQR _ :

) ) 4 16 \ -
(D) QRS ‘ : \ 9 ij ? f

58. If 16t is on the third Friday of a month,
then which date will fall on the fourth

Tuesday of the same month ? - (A 8
(A) 25 (B) 24
(B 26

(C) 30
(C) 27 '
'(D) 28 (D) 32

2RSP3/11/2023 (23-A)
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